Y 12 e X —_ (VI N
T3 1EE HERMIBEFRICETIAZEEEN
ZHH ZEH
=2 F ] = No. 1
=h &5 %BLFEI "
2R A = ; 2 iz & AE | prey | SRR | fBE EEE) L o
e =57 ZI = T (A) (B) B-A g
tEENE |Z&EF S 240 () 238 358] 1.50 [ 1.17
TER SE = 2 2 238 228]  0.96 | 1.23
LEM B Ty 0 (1) 199 125 0.63 [ 0.83
B EB 5 = 240 (2) 238 266 1.12 | 1.04
e fa x 320 318 346] 1.09 | 1.13
PRZERE [Ean 5 318 3701 _1.16 | 1.25
ARG [EAT i 12O 115 830 1.16 | 1.36
28 L & 320 @ 318 376|118 | 1.24
SRR S = Q) 218 284 1.02 | 1.14
B e 1 = ggg ) 198 121] 0.61 | 0.88
AT 3 1s % 300 ) 358 517] 1.44 | 1.41
o s 1 = 30 Q) 318 469 1.47 | 1.14
s SEE S ) 358 485] 1.35 | 1.25
S e = 360 () 358 601] 1.68 | 1.61
o e = 320 (2) 318 355 1.12 | 1.02
A=RE e 1 = 320 (2 318 442 1.39 | 1.52
HEES—x & 128 2) 158 189] 1.20 | 1.34
KE R £ ) = 5 40 37 0.93 ] 1.30
e x5 = 368 ) 238 248]  1.04 | 1.13
REEE  Zar = 50 2 358 488 1.36 | 1.18
M E@EE £ 200 o 238 263 1.11 [ 1.03
=T 3 1s = 200 (1) 199 207] 1.04 | 1.04
A T = 2 318 304]  0.96 | 1.02
A TR = 200 (2 198 199 1.01 [ 0.97
E05 3 1s = 120 (D 119 84 0.71 [ 0.72
ERmET  [Z&H = 360 (2) 358 486] 1.36 | 1.37
EomE  |[Ean % o 278 Znl 097 18
Jila 3 F ;tE 1.25 1.10
TISET %Ei X FIME) 318 202 1.26 | 1.25
IO&EE _ |[=&d s o 358 261 1.29 | 1.46
M=k w1 = 2a 2 218 346] 1.24 | 1.29
11 ZEE = 280 3 218 345] 124 | 1.23
e e 1 = 260 ) 358 500] 1.40 | 1.28
1[5 w1 = 50 2 358 533 1.49 | 1.38
ME=Eal TR T o (2) 318 201 1.26 | 1.27
T SEE e ) 198 58] 0.80 | 0.78
ES T2 = 360 (2) 358 515 1.44 | 1.52
RE =7 i 200 (2 198 171]_0.86 | 0.74
R i ;g 280 (2 278 366] 1.32 | 0.99
= Bas 2 320 318 309 1.25 | 1.27
N T aE = f2>‘20 2) 318 368] 1.16 [ 1.29
BT x5 = 280 ) 2718 281 1.01 | 1.13
Sy 3 1 = 238 2 238 218]  0.92 [ 0.87
BEELT TR = = (2) 198 234 _1.18 | 1.2
BT A A = o () 119 126] 1.06 | 0.90
"BEAEOD () NOBFH. iﬁg%fﬁe&a;ﬁﬁ)\h%@%% 318 _495] _1.56 | 1.78
PEARBARERD BER L i B B AR vad. B aans. W
. B AR—URE, Ef. £FERE. FHREEOHTHS.




2a EEH _ No.2
= 5 XEFT | conn | an —

= B 4 23— 2 |x| BRAR | geag | CRAK | BEOEEE) G s

% H (A) (B) B=A ™"

A =ZEF H* 320 (2) 318 338 1.06 1.36
AT TEH H* 320 (2) 318 395 1.24 1.23
AR =& F H* 280 (2) 278 287 1.03 1.25
A =& H* 320 (2) 318 497 1.56 1.16
RE =& H 120 (1) 119 74 0.62 0.65
AKEI—R +H 40 40 13 0.33 0.70
wE =& H* 320 (2) 318 394 1.24 1.23
RET =& H 320 (2) 318 384 1.21 1.02
ISR =& F H* 200 (2) 198 241 1.22 1.10
A =& ¥ H 280 (2) 278 275 0.99 1.05
EF0 =& H 200 (2) 198 200 1.01 1.19
A [ =& F H* 200 (1) 199 211 1.06 0.95
2B =& ¥ H* 320 (2) 318 336 1.06 0.99
B =& H 360 (2) 358 410 1.15 1.20
=) 1] =& F H* 240 (2) 238 281 1.18 1.12
=YESD =& ¥ H* 320 (2) 318 400 1.26 1.33
BEhNE =& 1+ 240 (2) 238 282 1.18 1.50
FER =& F H* 240 (2) 238 199 0.84 0.96
A EER =& F H* 240 (2) 238 252 1.06 0.90
iR =& H 360 (2) 358 535 1.49 1.51
PR =& F H* 320 (2) 318 492 1.55 1.60
PR & TEH H* 320 (2) 318 407 1.28 1.23
PR P8 =& F H 320 (2) 318 380 1.19 1.19
2E =& F H* 320 (2) 318 389 1.22 1.27
Bk TEH H* 320 (2) 318 400 1.26 1.65
I =& F H 200 (2) 198 227 1.15 1.06
S EE D3R =& F H* 240 (2) 238 244 1.03 1.10
SEANEE =& H* 200 (2) 198 175 0.88 0.96
By B = EF H 160 (2) 158 190 1.20 1.59
JELL =& ¥ H* 120 (1) 119 81 0.68 0.76
PIEE— =& H* 200 (1) 199 191 0.96 1.06
R BE =& F H* 240 (2) 238 308 1.29 1.18
BREER =& ¥ H 120 (1) 119 144 1.21 0.92
AR—ya—x | # 80 80 37 0.46 0.65
==} =& H* 120 (1) 119 135 1.13 1.01
FHa—X H* 40 40 76 1.90 1.05
EA =& H 240 (2) 238 229 0.96 0.86
ERE— =& F H* 280 (2) 278 421 1.51 1.24
=+ R =& ¥ H* 240 (2) 238 197 0.83 0.99
S5 CHE =& H 160 (2) 158 129 0.82 0.93
A E[E =& F H* 320 (2) 318 424 1.33 1.33
ANE =& ¥ H* 320 (2) 318 362 1.14 1.35
VNN =& H 120 (1) 119 136 1.14 1.12
BHRESHAXI—X | & 40 40 40 1.00 0.95
NI =& E: 280 (2) 278 285 1.03 1.16
AIET EBE x 320 () 318 368 _1.16 | 1.31




2H0H EEH No. 3

= 5 XEFT | conn | an —

= B 4 23— 2 |x| BRAR | geag | CRAK | BEOEEE) G s

% H (A) (B) B=A ™"

= =ZEF H* 240 (2) 238 247 1.04 0.92
=Rk TEH H* 280 (2) 278 303 1.09 0.92
= =& F H* 200 (1) 199 256 1.29 1.13
=8 =& F H* 160 (1) 159 130 0.82 0.74
J\ & =& H 160 (2) 158 145 0.92 1.07
AKEI—R +H 40 40 27 0.68 0.88
J\iEFa =& H* 80 (1) 79 92 1.16 0.97
58 =& H 360 (2) 358 510 1.42 1.34
FS =& F H* 200 (2) 198 200 1.01 0.90
S E R =& ¥ H 240 (2) 238 294 1.24 1. 31
==y =& H 280 (2) 278 331 1.19 1.32
Bk =& F H* 320 (2) 318 468 1.47 1.10
O miaLlll#& =& ¥ H* 140 140 197 1. 41 1.29
O i+l =& H 240 240 459 1.91 1.75
O WiLEFIFE =& F +H 320 320 443 1.38 1.23
O haK=Ed =& ¥ H* 280 280 280 1.00 1.06
O INAamaL =& H 320 320 498 1.56 1.61
XHAAR—ya—X| & 120 120 80 .50 2.34
EE' RS =t 27,940 (185) 2], 755 33,198 20 1. 21

- OFIE. MIIBZFFR



S HH FRPH No. 4

=2 #l 2 NEESET N ” o i _
= % 23— 2 |x| BRAR | geag | CRAK | BEOEEE) G s
EN H (A) (B) B=A |™T"
B % [z BE £l ) B2 %l
AR BREEH E:3 40 40 7] 1.18 ] 0.95
YR LR | & 80 (1) 79 88 1.11 | 1.13
A ERRE 3 80 80 70| 0.88 | 0.88
EEERGE [ & 80 (1) 79 88| 1.11 ] 0.97
[ZE=]- EmERR # 40 (1) 39 44 1.13 | 1.00
BETYA R | & 40 40 32 0.80] 0.73
HMREE EYMEERME [ 40 40 58] 1.45 | 1.00
BE=7 3 40 40 52 1.30 | 1.28
EEF Y 40 () 39 36 092 ] 1.23
BRRRH 3 40 40 54 1.35 | 1.13
A SER TR 3 40 40 40 1.00 | 1.25
YRR | & 40 40 36/ 0.90 | 0.80
BRREINZ [EXH 3t 40 40 A 1.03] 1.03
Bt EH xS 40 (1) 39 40 1.03| 090
ZMREER 3 40 40 47 1.18 | 0.93
RS BETY4 8 [# 40 40 43 1.08 | 1.20
FEEE BE=# H# 40 40 321 0.80| 0.78
EEEFH i TO) 39 43] 110 1.28
E E 7 = 840 (6 834 801] 1.07] 1.02




S HH FRPH No. 5

= 5 yC T R R -
= B 4 23— 2 |x| BRAR | geag | CRAK | BEOEEE) G s
% H (A) (B) B=A ™"
T E = B J$ 2 F
AR LE E‘Z_ﬁﬂ- H* 80 (1) 79 61 0.77 0.66
A E H* 80 (1) 79 66 0.84 0.86
HlEATLE | & 40 40 35 0.88 0.95
IEEREE TR H 40 40 38 0.95 1.03
RKEIE b Ak 5 +H 80 80 80 1.00 0.96
EERe H* 40 40 36 0.90 0.80
BN H 80 (1) 79 92 1.16 0.95
BT H* 80 (1) 79 92 1.16 1.08
HEHIITXE AR H 80 (1) 79 78 0.99 1.04
B H 80 80 91 1.14 1.26
ERi +H 80 80 84 1.05 0.93
JNOITZE kD H* 80 80 82 1.03 1.09
EE5E H 80 M 79 713 0.92 0.84
EiREIEFE H* 80 (1) 79 103 1.30 0.94
NIRRT % THA F H* 40 40 46 1.15 1.40
EEF H 40 40 49 1.23 1.30
A H* 80 (1) 79 79 1.00 1.16
B E H* 40 40 58 1.45 1.25
1b=Fl H 80 (1) 79 74 0.94 1.04
AETE ek H* 40 (1) 39 5 1. 31 0.82
TEILFEFR H* 40 40 38 0.95 0.83
A H 80 80 100 1.25 1.10
RIEFSH +H 40 40 25 0.63 0.68
BRI H* 40 40 53 1.33 1.25
EEATE EeRs H 40 40 50 1.25 0.98
EEF £ 40 40 37 0.93 1.25
T RE H* 40 40 47 1.18 0.73
AL H* 80 (1) 79 65 0.82 1.04
&R il £ 40 40 4] 1.18 1.05
ARSI |ET a4 AL 3 40 (1) 39 40 1.03 0.70
s Rl +H 40 40 62 1.55 1.08
BEBQE Ak Al H 40 40 36 0.90 0.80
EFHEEE H 40 40 41 1.03 0.78
FILTHE A +H 80 80 18 0.98 0.98
EERE H 80 (1) 79 60 0.76 0.56
EFHEmE H 80 80 66 0.83 0.84
EIEEE BERUVATLE | & 40 (1) 39 28 0.72 1.05
ERA T4 78 | & 40 40 39 0.98 1.15
FNOLYF H 40 40 40 1.00 0.98
HMREIRE |BRVATLE | &£ 40 (1) 39 43 1.10 0.82
BWOATLE | & 40 40 31 0.78 1.03
HEMREEM [EFHEERE H 40 (1) 39 23 0.59 0.95
s RIIES +H 40 40 40 1.00 0.83
THA F H* 40 40 42 1.05 1.05
ST ERM  (HEE H 80 (1) 79 60 0.76 1.01
=L +H 40 40 46 1.15 0.98
| ESE H* 40 (1) 39 38 0.97 1.21
EE s R IIES I 40 40 45 1.13 0.95
BEIREFE pid 40 40 54 .35 1.05
T E 7 E 2,720 (18) 2,102 2,142 .01 0.97




ZHH FHFH No. 6

£ # | & PN —— e —

2 B & 23— 2 |x| BRAR | geag | CRAK | BEOEEE) G s

% H (A) (B) B=A |™T"
5 - B 7 5 = #

IR EEZS! E: 120 120 146] 1.22 ] 1.48
B E EEZ) T 120 (1) 119 101] 0.85 | 0.65
EHRNIEFR] e 80 30 57]  0.71 | 1.01
AR E FER 3 200 (2 198 150/ 0.76 | 0.98
EHRANIEF] 3 80 80 113 1.41 | 1.54
AEEE EEZ! T 240 (2 238 206] 0.87 | 0.87
BEAEE EES) E 160 (1) 159 127 0.80 | 1.09
EHRANIEF] 3 40 40 40 1.00 | 0.88
B EEZL! 2 80 80 771 0.96 | 0.96
HaREeREM |akEd H 40 40 271 0.68 | 0.70
&R ANIEF #* 40 40 35] 0.88 | 0.88
RILEF B EE T 80 (1) 79 65| 0.82 | 1.00
EREL! e 80 80 81 1.01 | 0.95
EHRALIEF #* 80 80 84 1.05| 1.18
NS [EHRANIEF 2 80 (1) 79 75| 0.95 | 1.22
EERERE E 80 80 921 1.15 | 1.11
ECRXEER [# 80 (1) 79 50| 0.75 | 0.97
MERESEM [BMEECKRE [X 40 () 39 33 0.85 | 0.99
18~ & EHANIEFR] E 80 80 106] 1.33 | 1.34
B L R T ER 3 40 40 32| 0.80 | 0.63
TEEE EER e 40 40 31 0.78 | 0.58
EJCRXEERE [ 3 40 40 14| 0.35 | 0.40
EHRNIER] E: 40 40 38] 0.95 | 1.13
EAEE EER Y 160 (2 158 187] 1.18 | 1.12
£Et7 3 40 40 37 0.93 | 0.83
EHRNIEF] 3 80 80 73] 0.91 | 1.18
ER EESA S 80 (1) 79 33 0.42 | 0. 31
J\Em EEZ) S 80 (1) 79 67 0.85 | 0.81
EHRNIEF] 3 80 80 84 1.05| 0.94
O ML EEEFE # 70 70 1231 1.76 | 1.36
ERNEE 3t 70 70 100 _1.43 | 1.14
BCEEEE? =t 2.620__(14) 2606 2 493 _0.96 | 0.99

- OFIE. MIIBFFR



286 BFPH _ No. 7
= Sl El NEESET N . e _
2 B & A I Fray | SRaR | BEWIE 5 o
% H (A) (B) B=A |™T"
| F [ B 3 % F H
BELF =S ES 40 40 52 1.30 | 1.05
RREZE = 40 40 53] 1.33 | 1.20
HAaKeERM RGBTSR [H# 40 40 34| 0.85 | 0.65
BYERER E: 0 () 39 46] 1.18 | 1. 21
MRXEIFE [SA4775F/1o0R# 40 40 39] 0.98 | 0.70
J—FFH 4 UR[ & 40 40 44 1.10 | 1.10
mEREEN [REFTHYA VR [ & 40 40 36] 0.90 | 0.85
(BB H# 40 40 40 00 | 1.20
X B =t 320 (D 319 344 08 | 0.99
_______F iE Iz B Ch % 2
B [E:EE] E:3 80 30 39 30
F R = 30 30 39 30
5 i B cl 5 2 il
EHE AT [SrEER ES 40 40 76] 1.90 | 1.85
AR S EEER 3 40 40 52 1.30 | 1.25
RE S EEER T 40 40 63| 1.58 | 1.38
=g SEZER E 40 40 63| 1.58 | 1.53
i S EEER 3 40 40 48] 1.20 | 1.48
T EA S EZER e 40 40 66/ 1.65 | 1.60
A EE SAEZER s 80 (1) 79 1291 1.63 | 1.58
i SNEZEE 3 40 40 60 50 53
| 5 B ZE F = 360 (1) 359 557 55 53
= fff = B ¥ B F
K= LE EifE E: 40 40 52] 1.30 | 1.38
A E M H # 40 40 40 1.00 | 0.88
= a EXTiEs I 40 40 43 08 13
E3 ﬁq 3! = 120 120 135 13 13
Z & [ B 4+ A ¥ F
NP, B% EEgE E:3 40 40 1] 1.03 ] 1.25
o =B # 40 40 36] 0.90 | 0. 73
MR = EF I 40 40 39| 0.98 | 0.85
= = 7 = 120 120 116] 0.97 [ 0.9
ZEEE Iiaﬂ E:3 40 40 26]__0.65 30
£ B #I = 40 40 26] 0.65 30
& & I B 4+ B %
PN=E =S E:3 80 80 94] 1.18 | 1.25
S CHE AK—v A TR FE 80 80 83 04 01
= B #l = 160 160 177 1 13




SHE| BHMEE _ No.8
3 | B NEET o —
2 B & 23— 2 |x| BRAR | geag | CRAK | BEOEEE) G s
% H (A) (B) B=A |™T"
B % - B 3+ 2% =z F
- ¢ ! EL3 40 40 90] 2.25] 230
BN TEEF # 40 40 47] 1.18 | 1.25
Mmadt T # 40 40 62 1.55 | 1.48
AR AL IR # 40 40 69] 1.73 | 1.68
NI TEEF E] 40 40 84| 2.10 | 2. 08
O k=it [FEEE # 40 40 85| 2.13 | 1.95
O JOmS IEHE H 40 40 86] 2.15 | 235
= & 3 = 280 280 523] 1.8/ ] 1.8/
_ & [ B 3 & = 3
ST EEETES! E:3 30 30 62] _0.78] 0175
& i Fl 5 30 30 62]_078] 015
A x T B F A = F
EHoie A XEL D3 40 40 28] _0.70] 073
NI B 40 40 28] 0.70 | 0 13
B 3 % _F F
T3 40 40 66] 1,65 30
¥ 40 40 66] 1,65 30
B 3 % = 7
X 40 40 7] 1.18 WK
T 40 40 4] 1.18 23
B 9 % ¥ H
3 40 40 22] _1.06] 000
E 40 40 22] 1.05] 090
£ 9 - & B - B3 %
T & ESVER EE3 20 (1) 119 138] 1.16 ] 1.08
BER # 120 (1) 119 125 _1.05 ] 1.08
% B E % ¥ 240 (2) 233 263] 1.11 ] 108
= F 5 # [Ef]__ 8,140 (4D)] 8_008] 8 623] 106 105

- OFIE. MISFFR




L I No.O
-+ S EZ AZFEFA] == E N =
2 B £ 23— 2 |k| BRAR | geag | CRAK | BEOBEE G o4
3 gt (A) (B) B=A ™"
INEFT BEZF H* 120 (1) 119 69 0.58 0.61
JIHBRE WEEH H* 240 (2) 238 241 1.01 1.22
AE L5 WBEZH H* 320 (2) 318 325 1.02 1.03
EE i WEeEH H 200 (1) 199 154 0.77 0.77
HEIEEE WEEH H* 200 (2) 198 223 1.13 1.15
SR FNFE AL WBEZH H* 120 (1) 119 123 1.03 0.87
BIBE Wwe=xEF H 280 (2) 278 330 1.19 1.10
=IIZER WEEH H 120 (1) 119 127 1.07 1.42
FZEHIL BEZH 3 200 (1) 199 233 17 0.97
w85 F F g 1,800 (13) 1. 787 1,825 .02 1.02
[ 205 &8 5 Baoh [EF]__37.880 (2400 37.640] __ 43.646] 1.16 ] 1.16 ] I
- OHIE., MIAEEFER




ERESl  EEEl No.1 O

= B | B T o —

2 B £ 23— 2 |k| BRAR | geag | CRAK | BEOBEE G o4
% H (A) (B) B-A|™"
tE EEE E: 40 10 71 0.18 | 0.38
BT E &R E 80 80 10 0.13 | 0.15
SEAN TEHE E:] 40 40 7 0.18 0.30
EHE—&F |Zaf & 40 40 12 0.30 | 0.33
KEEE TEF H* 40 40 2 0.05 0.05
KEdiR EEH H 80 80 53 0.66 0.66
M ZE@F H 40 40 9 0.23] 0.15
EEER &R E 80 80 A 0.51 ] 0 46
IFETE ZEE s 40 40 13 0.33 | 0.30
2= &R E3 40 40 7 0.18 | 0.28
EED ZEF H* 40 40 3 0.08 0.30
My s ZEE 3 80 80 29 0.36 | 0 45
BREIRT |[E&Ef E 40 40 4] 0.10 | 0.13
AR LEF H* 40 40 1 0.28 0.45
FE BREE&EE E 120 (40) 80 53 0.73 | 0 43
REEZEFR 3 40 40 6] 0.15| 0.18
BRAE EEH I 40 40 7 0.18 0.28
AF Z & £ 40 40 9] _0.48 | 0.38
E @ _Ft = 960 (40) 920 298] 0.32 | 0.34

EFf] FPPEE _ No.1 1

= B | B ANFEFA

== e I =

= B 4 2 — 2 |&| BRAR | geag| TRR | BEOEEE g s

e e (A) (B) B-A
| T E I B 3 3 = #
~ ABlZ | LERmME =3 80 30 26] 033 ] 0. 23
NOTE T Z iR # 80 80 11 _0.14 | 0.15
_ JIFRTE T EH i 3+ 80 80 12 0.15 [ 0 21
— T = 33 240 240 29 _0.20] 020
B2 - B 3 & = 5

~ XemE 0 mEE 3 0 40 5] _0.13 ] 0.25
B x F Hi 40 40 5] 013 ] 0.25

- OFIE. MIEFFK
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ERf] BEPHE — —= No.1 2
== J % )\?E#EI =+ 3 I 2z =
2 % & 23— 2 |k| BRAR | geag | CRAK | BEOBEE G o4
% H (A) (B) B=A ™"
REILEES I &R Ei3 160 (4 156 187] 1.20 ] 1.08
I B S 80 (2 78 22| 0.28 | 0.33
F B I B E: 80 (2 78 88| 1.13 | 1.28
I &R 3 80 (2 78 93] 1.19 | 1.46
I &7 3t 80 (2 78 54 0.69 | 0.68
We | fk I B T 144 144 126/ 0.88 | 1.01
I &R E 72 72 15 0.21 | 0.04
EES:S I B 3t 80 (2 78 56] 0.72 | 0.94
I B # 80 (2 78 34| 0.44 | 0.53
O JilOthsz eEZs 3 120 120 41 0.34 | 0.38
B & F 7 = 976 (16) 960 716] 0.75 | 0.30
T E TR G2 [ET] 2.216_ (56)] 2. 160] 1.068] _0.49 | _0.53 |

L_£B% - EEHIDMRET arl 40,096 (296)] 39, 800] 44 714] 1.12 [ 1.13 |

- OFIE. MISFFR
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